Questions
1.  Explain who AMD is and how they branched out to become a competitor of Intel? 
· AMD is Intel's main competitor.  They were originally contracted out under a licensed agreement to manufacture microprocessors, beginning with the 80286.  During the production of the 80386, AMD decided they would produce their own CPU that would come to compete with Intel. 

2.  When and with what chip was AMD's first attempt at competing with Intel's Pentium?    

What was the Result? 

· AMD's first initial attempt to compete with the Pentium chip was in 1995 with their AM5x86 chip.  The result was it was more or less for users who wanted to upgrade their 486 motherboards without having to make the jump to the Pentium motherboard.  AMD did not fare well with this chip
3. What does the VIA KT400 chipset consist of and what are their functions?

· Consist of the VT8368 North Bridge and the VT8235 South Bridge.

· The northbridge’s functions are memory access, video access through AGP and access to the CPU. 

· The southbridge’s functions are the link between the south and north bridges, audio controller, modem controller, Ethernet controller, USB 2.0, ATA 133 EIDE controller and PCI bus controller.

4. How is the PCI bus structure different from the KT400 to the AMD 760MPX?
· Both have 32 bit PCI slots that are accessed through their southbridges at 33Mhz, however, the MPX being a dual-processor chipset, it offers additional 64 bit, 66Mhz PCI slots that are accessed between the north and southbridge link. (see pictures in slides)
5. What is the purpose of a highly structured chipset?

· A highly structured chipset allows for bus segmentation. This segmentation gives the chips enough time and buffer to operate efficiently. 

6. What is required by Intel’s 860 Chipset in order to manage and accept up to 16 gigabytes of RAM?

· The chip’s which manage Intel’s advanced memory capabilities are the MRH_R.

